

## INEQUALITIES CONNECTED WITH WEIGHTED MINIMAX SERIES

N. HAYEK AND F. PÉREZ ACOSTA

*Departamento de Análisis Matemático, Universidad de La Laguna  
38271 La Laguna, Tenerife, Canary Islands, Spain*

(Received 2 April 1999; Accepted 19 May 1999)

Certain weighted minimax series are used in order to establish several properties connected with the best polynomial approximation of continuous functions. Specially, the existence of a certain sequence leads to define some Banach algebras.

**Key Words :** Polynomial Approximation Theory; Minimax Series.

### 1. INTRODUCTION

It is known that in order to investigate the connection between the errors concerning to best algebraic polynomial approximations

$$(E_n(f))_p = \inf (\|f - p\|_p; p = \text{algebraic polynomial of degree } \leq n)$$

with  $f \in L_p(D)$  and the norms (the same as its equivalents norms) of certain functional spaces in which  $1 \leq p \leq \infty$ , it is sometimes necessary to have recourse to the so-called moduli of smoothness. In this sense, some Besov-type spaces generated by these moduli are related to the sequence  $\{(E_n(f))_p\}$ .

One of the interesting results about Besov spaces is, e.g., among others that the norms of these spaces for periodic functions of period  $2\pi$  (that is,  $f \in L_p(T)$ ) have an equivalent norm  $\|f\|_{B_{\alpha,s}^p}$  which can be expressed in terms of such moduli of smoothness<sup>4</sup>. Other moduli of smoothness to investigate best algebraic polynomial approximation  $E_n(f)_p$  can be seen in [3].

It must be remarked that, in particular, of  $p = \infty$  and  $s = 1$ , this type of norms are defined by series involving weighted minimax series. In a more general framework the role of the equivalence between the Peetre  $K$ -functional and the moduli of smoothness leads to other important results in approximation processes<sup>1&2</sup>.

The inequalities established in the present paper, related to the mentioned weighted minimax series allow to prove the existence of a certain sequence of constants connected with best algebraic polynomial approximation. On the other hand, these inequalities give rise to certain Banach algebras.

## 2. DEFINITIONS AND SOME CONSIDERATIONS

We start by recalling some basic definitions and refer to [5], [6], [7] for more details and references.

Let  $f$  be a continuous function on  $[a, b]$ .  $\Pi_n$  will denote the set of all polynomials of degree  $n$  at most and  $\Pi$  the set of all polynomials. For each  $n$ , the minimax of  $f$  is given by :

$$E_n(f) = \|f - p_n\|_\infty = \inf_{p \in \pi_n} \|f - p\|_\infty,$$

where  $p_n$  stands for the best approximation of  $f$  on  $\pi_n$ , in the uniform norm.

The expression

$$S(f) = \sum_{k=0}^{\infty} E_k(f)$$

is called minimax series of  $f$  and represents the sum of all the errors of the best polynomial approximations of  $f$ ; hence, it can be seen as a "measure" of how good the function  $f$  can be approximated by polynomials.

In an earlier paper<sup>6</sup>, the following inequality:

$$(fg) \leq KS(f)S(g),$$

where  $f$  and  $g$  denote continuous functions having zeros on  $[a, b]$ ,  $S(f) < \infty$  and  $S(g) < \infty$  and  $K$  a certain positive constant, was established. This result leads us to consider weighted minimax series of the form :

$$N_r(f) = E_0(f) + \sum_{k=1}^{\infty} k^r E_k(f), \quad r = 1, 2, \dots$$

Note that for  $r = 0$  is  $N_0(f) = S(f)$ , and fix a point  $x_0 \in [a, b]$  in order to assure that if  $f(x_0) = 0$  and  $E_0(f) = 0$ , then  $f = 0$ .

The main result of this paper is that there exists a sequence  $(\alpha_k)$  of positive numbers, independent of the point  $x_0$ , such that

$$N_k(fg) \leq \alpha_k N_k(f) N_k(g).$$

Finally using techniques with the moduli of smoothness is proved that this inequality is valid also for  $r > 0$  arbitrary.

3. THE OPERATORS  $T$  AND  $U$  : PREVIOUS RESULTS

Let

$$S_0(f) = S(f), S_1(f) = \sum_{n=0}^{\infty} S(f - p_n), \text{ and } S_{j+1}(f) = \sum_{n=0}^{\infty} S_j(f - p_n), j = 1, 2, \dots,$$

and the support spaces  $F_j = \{f \in C[a, b] \text{ such that } f(x_0) = 0 \text{ and } S_j(f) < \infty\}$ .

Then  $S_j$  is a norm in  $F_j$ , for all  $j = 0, 1, 2, \dots$ .

To prove our next result, we consider

*Lemma 1* — (a)  $E_k(f - p_n) = E_n(f)$  ( $0 \leq k \leq n$ ) and (b)  $E_k(f - p_n) = E_k(f)$ , ( $k \geq n$ )

PROOF : (a) If  $q_k$  is the best approximation of  $f - p_n$  in  $\pi_k$ , one has:

$$E_n(f) \leq \|f - p_n - q_k\|_\infty = E_k(f - p_n);$$

on the other hand

$$E_k(f - p_n) \leq \|f - p_n\|_\infty = E_n(f).$$

(b) It follows taking into account that  $p_n \in \pi_k$ ,  $\forall k \geq n$ . ■

We now define the following operators: The operator  $T$ , by means of the inequality:

$$T(A_0, A_1, \dots, A_r) = A_0 N_0(f) + A_1 N_1(f) + \dots + A_r N_r(f), A_0, A_1, \dots, A_r \in \mathbb{R}^{r+1}$$

$$U(A_0, A_1, \dots, A_r; n)$$

$$\begin{aligned} &= A_0 \left( N_0(f) - \sum_{k < n} (E_k(f) - E_n(f)) \right) + A_1 \left( N_1(f) - \sum_{k < n} k(E_k(f) - E_n(f)) \right) \\ &\quad + A_2 \left( N_2(f) - \sum_{k < n} k^2(E_k(f) - E_n(f)) \right) + \dots + A_r \left( N_r(f) - \sum_{k < n} k^r(E_k(f) - E_n(f)) \right). \end{aligned}$$

*Proposition 1* — If  $S_r(f) = T(A_0, A_1, \dots, A_r)$  and  $p_n$  is the best approximation of  $f$  on  $\pi_n$ , one has:

$$S_r(f - p_n) = U(A_0, A_1, \dots, A_r; n).$$

PROOF : Let  $S_r(f) = A_0 N_0(f) + \dots + A_r N_r(f)$ .

Then

$$\begin{aligned} S(f - p_n) &= A_0 N_0(f - p_n) + \dots + A_r N_r(f - p_n) \\ &= A_0 \left( S(f) - \sum_{k < n} (E_k(f) - E_n(f)) \right) + A_1 \left( \sum_{k=0}^{\infty} k E_k(f) - \sum_{k < n} k(E_k(f) - E_n(f)) \right) \end{aligned}$$

$$\begin{aligned}
& + \dots + A_r \left( \sum_{k=0}^{\infty} k^r E_k(f) - \sum_{k < n} k^r (E_k(f) - E_n(f)) \right) \\
& = A_0 \left( N_0(f) - \sum_{k < n} (E_k(f) - E_n(f)) \right) + A_1 \left( N_1(f) \sum_{k < n} k E_k(f) - \sum_{k < n} k (E_k(f) - E_n(f)) \right) \\
& + \dots + A_r \left( N_r(f) - \sum_{k < n} k^r E_k(f) - E_n(f) \right) = U(A_0, A_1, \dots, A_r; n) \quad \blacksquare
\end{aligned}$$

**Theorem 1** — If  $S_{r-1}(f) = T(A_0, A_1, \dots, A_{r-1})$ , then

$$S_r(f) = T(B_0, B_1, \dots, B_r),$$

where

$$\begin{aligned}
B_0 &= A_0 + A_{r-1} \alpha_0^{(r-1)}, B_1 = A_0 + A_{r-1} \alpha_1^{(r-1)}, \dots \\
B_{r-2} &= A_0 + A_{r-1} \alpha_{r-2}^{(r-1)}, B_{r-1} = A_0 + A_{r-1} \left( \alpha_{r-1}^{(r-1)} + 1 \right), \text{ and } B_r = 2A_{r-1}.
\end{aligned}$$

where

$$1^r + 2^r + \dots + (n-1)^r = n^{r+1} + \alpha_r^{(r)} + \alpha_{r-1}^{(r)} n^{r-1} + \dots + \alpha_0^{(r)}.$$

**PROOF** : The proof follows by induction on  $r$ .

Thus, for  $r = 1$ ;

$$S(f) = \sum_{n=0}^{\infty} E_n(f) = T(1),$$

$$S(f - p_n) = U(1; n),$$

and

$$\sum_{n=0}^{\infty} U(1; n) = \sum_{n=0}^{\infty} \left( S(f) - \sum_{k < n} (E_k(f) - E_n(f)) \right) = \sum_{n=0}^{\infty} E_n(f) + 2 \sum_{n=0}^{\infty} n E_n(f) = T(1, 2).$$

$$B_0 = A_0 + A_0 (\alpha_0^{(0)} + 1)$$

$$B_1 = 2A_0.$$

$$1^0 + 2^0 + 3^0 + \dots + (n-1)^0 = 1 + 1 = \dots + 1 = (n-1).$$

Hence,  $\alpha_0^{(0)} = -1, A_0 = 1, B_0 = 1,$  and  $B_1 = 2.$

Suppose that this is true for  $r = m.$  Then, for  $r = m + 1,$  we obtain

$$\begin{aligned} \sum_{n=0}^{\infty} U(A_0, A_1, \dots, A_m; n) &= \sum_{n=0}^{\infty} \left[ U(A_0, A_1, \dots, A_{m-1}; n) \right. \\ &\left. + A_m(N_m(f) - \sum_{k < n} k^m (E_k(f) - E_n(f))) \right], \end{aligned}$$

and by the induction hypothesis,

$$\sum_{n=0}^{\infty} U(A_0, A_1, \dots, A_{m-1}; n) = T(C_0, C_1, \dots, C_{m-1}, C_m),$$

where

$$C_0 = A_0 + A_{m-1} \alpha_0^{(m-1)}, C_1 = A_0 + A_{m-1} \alpha_1^{(m-1)}, \dots, C_{m-2} = A_0 + A_{m-1} \alpha_{m-2}^{(m-1)},$$

$$C_{m-1} = A_0 + A_{m-1} \left( \alpha_{m-1}^{(m-1)} + 1 \right) \text{ and } C_m = 2A_{m-1}.$$

On the other hand,

$$\begin{aligned} &\sum_{n=0}^{\infty} \left( \sum_{k=0}^{\infty} k^m E_k(f) - \sum_{k < n} k^m (E_k(f) - E_n(f)) \right) \\ &= 1^m E_1(f) + 2.2^m E_2(f) + 3.3^m E_3(f) + \sum_{n=0}^{\infty} [1^m + 2^m + \dots + (n-1)^m] E_n(f) \\ &= \sum_{n=0}^{\infty} n^{m+1} E_n(f) + \sum_{n=0}^{\infty} [1^m + 2^m + \dots + (n-1)^m] E_n(f). \end{aligned}$$

Hence,

$$\begin{aligned} \sum_{n=0}^{\infty} U(A_0, A_1, \dots, A_m; n) &= T(C_0, C_1, \dots, C_{m-1}, C_m) \\ &+ A_m \left( \sum_{n=0}^{\infty} n^m E_n(f) + \sum_{n=0}^{\infty} n^{m+1} E_n(f) + \sum_{n=0}^{\infty} [1^m + 2^m + \dots + (n-1)^m] E_n(f) \right) \end{aligned}$$

$$\begin{aligned}
 &= A_m \left( \sum_{n=0}^{\infty} n^m E_n(f) + \sum_{n=0}^{\infty} n^{m+1} E_n(f) + \alpha_0^{(m)} \sum_{n=0}^{\infty} E_n(f) + \right. \\
 &\quad \left. + \alpha_j^{(m)} \sum_{n=0}^{\infty} n E_n(f) + \dots + \alpha_n^{(m)} \sum_{n=0}^{\infty} n^m E_n(f) + \sum_{n=0}^{\infty} n^{m+1} E_n(f) \right) \\
 &= T(C_0, C_1, \dots, C_{m-1}, C_m) + A_m T\left(\alpha_0^{(m)}, \alpha_j^{(m)}, \alpha_m^{(m)} + 1, 2\right) \\
 &= T(C_0 + A_m \alpha_0^{(m)}, C_1 + A_m \alpha_j^{(m)}, \dots, C_{m-1} + A_m \alpha_{m-1}^{(m)}, C_m + A_m (\alpha_m^{(m)} + 1), 2A_m) \\
 &= T(B_0, B_1, \dots, B_{m-1}, B_m, B_{m+1}),
 \end{aligned}$$

where

$$\begin{aligned}
 B_0 &= A_0 + A_m \alpha_0^{(m)}, B_1 = A_0 + A_m \alpha_j^{(m)}, \dots, B_{m-1} = A_0 + A_m \alpha_m^{(m)}, \\
 B_m &= A_0 + A_m (\alpha_m^{(m)} + 1) \text{ and } B_{m+1} = 2A_m
 \end{aligned}$$

*Corollary 1* — There exist constants  $A_0, A_1, \dots, A_j$  such that

$$S_j(f) = A_0 N_0(f) + A_1 N_1(f) + \dots + A_j N_j(f), \quad \forall f \in F_j.$$

PROOF : The results follows from theorem 1 and taking into account that

$$S(f) = S_0(f) = T(1)$$

*Corollary 2* — If  $p_n$  is the best approximation of  $f \in F_j$  on  $\pi_n$ , one has

$$S_j(f - p_n) \leq S_j(f), \quad \forall j = 0, 1, 2, \dots$$

and

$$S_j(p_n) \leq 2S_j(f), \quad \forall j = 0, 1, 2, \dots$$

PROOF :  $S_j(f - p_n) = U(A_0, A_1, \dots, A_j; n) \leq A_0 N_0(f) + A_1 N_1(f) + \dots + A_j N_j(f) = S_j(f),$

$$\forall j = 0, 1, 2, \dots$$

Also

$$S_j(p_n) \leq S_j(f - p_n) + S_j(f) \leq 2S_j(f), \quad j = 0, 1, 2, \dots$$

**Theorem 2** —  $S_j(f - p_n) \leq S_j(f - p), \quad \forall p \in \pi_n.$

PROOF :  $S_j(f - p_n) = A_0 N_0(f - p_n) + A_1 N_1(f - p_n) + \dots + A_j N_j(f - p_n)$

$$\leq A_0 N_0(f - p) + A_1 N_1(f - p) + \dots + A_j N_j(f - p), \quad \forall p \in \pi_n$$

**Theorem 3** — *The norms  $N$  and  $S_j$  are equivalents in  $F_j$  for all  $j = 0, 1, 2, 3$ .*

PROOF :  $S_j(f) = A_0 N_0(f) + A_1 N_1(f) + \dots + A_j N_j(f)$ ,

and

$$N_0(f) \leq N_1(f) \leq \dots \leq N_j(f).$$

Then

$$N_j(f) \leq S_j(f) \leq (A_0 + \dots + A_j) N_j(f)$$

**Corollary 3** —  $S_j(f - p_n) \leq S_j(f - p), \quad \forall p \in \pi_n$ .

PROOF :  $S_j(f - p_n) = A_0 N_0(f - p_n) + A_1 N_1(f - p_n) + \dots + A_j N_j(f - p_n)$

$$\leq A_0 N_0(f - p) + A_1 N_1(f - p) + \dots + A_j N_j(f - p), \quad \forall p \in \pi_n$$

This corollary establishes that if  $p_n$  is the best polynomial approximation of  $f$  (with the uniform norm) in  $\pi_n$ , then  $p_n$  is also a best approximation of  $f$  with the norm  $S_j$ .

#### 4. MAIN RESULTS

**Lemma 2** — *If  $f$  has a zero in  $[a, b]$ , then  $\|f\|_\infty \leq 2S(f)$ .*

PROOF : There exists a constant  $c$  such that

$$\|f - c\|_\infty = E_0(f) \leq S(f),$$

and there exists  $x_0 \in [a, b]$  such that  $f(x_0) = 0$ . Hence

$$|c| \leq \|f - c\|_\infty = E_0(f).$$

Then

$$\|f\|_\infty \leq \|f - c\|_\infty + |c| \leq E_0(f) = 2E_0(f) \leq 2S(f)$$

**Theorem 4** — *If  $f$  and  $g$  have a zero on  $[a, b]$ , then :*

$$S(fg) \leq \frac{3}{2} [\|f\|_g S(g) + \|g\|_\infty S(f)] + 2S(f) S(g)$$

PROOF : Note that

$$\begin{aligned} E_{r+s}(fg) &\leq \|fg - p_r q_s\|_\infty \leq \|fg - fq_s + fq_s - p_r q_s\|_\infty \\ &= \|f(g - q_s) + q_s(f - p_r)\|_\infty \leq \|f\|_\infty E_s(g) + \|q_s\|_\infty E_r(f). \end{aligned}$$

On the other hand

$$\|q_s\|_\infty \leq S(g) + \|g\|_\infty,$$

Thus,

$$E_{r+s}(fg) \leq \|f\|_\infty E_s(g) + S(g) E_r(f) + \|g\|_\infty E_r(f).$$

Now, for  $r = s + 2$ , we get:

$$\sum_{s=0}^{\infty} E_{2s+2}(fg) \leq \|f\|_\infty S(g) = (S(g) + \|g\|_\infty) (S(f) - E_0(f) - E_1(f)) \tag{4.1}$$

and for  $r = s + 1$ ,

$$\sum_{s=0}^{\infty} E_{2s+2}(fg) \leq \|f\|_\infty S(g) = (S(g) + \|g\|_\infty) (S(f) - E_0(f)) \tag{4.2}$$

From (4.1) and (4.2) it follows that

$$\begin{aligned} S(fg) &= E_0(fg) + \sum_{s=0}^{\infty} E_{2s+1}(fg) + \sum_{s=0}^{\infty} E_{2s+2}(fg) \\ &\leq \|f\|_\infty \|g\|_\infty + 2 \|f\|_\infty S(g) + 2(S(g) + \|g\|_\infty) (S(f) - E_0(f)) - (S(g) + \|g\|_\infty) E_0(f) \\ &\leq \|f\|_\infty \|g\|_\infty + 2 \|f\|_\infty S(g) + 2S(f) S(g) + 2 \|g\|_\infty S(f) - 2(S(g) + \|g\|_\infty) E_0(f). \end{aligned}$$

and by involving lemma 2,

$$\begin{aligned} S(fg) &\leq \|f\|_\infty \|g\|_\infty + 2 \|f\|_\infty S(g) + 2S(f)S(g) + 2 \|g\|_\infty S(f) - 2(S(g) + \|g\|_\infty) \frac{\|f\|_\infty}{2} \\ &= \|f\|_\infty \|g\|_\infty + 2 \|f\|_\infty S(g) + 2S(f) S(g) + 2 \|g\|_\infty S(f) - \|f\|_\infty S(g) - \|f\|_\infty \|g\|_\infty \\ &= \|f\|_\infty S(g) + 2 \|g\|_\infty S(f) + 2S(f) S(g). \end{aligned}$$

Interchanging  $f$  and  $g$ , one has:

$$S(fg) \leq \|g\|_\infty S(f) + 2 \|f\|_\infty S(g) + 2S(f)S(g).$$

Then



$$S(fg) \leq \frac{3}{2} (\|f\|_\infty S(g) + \|g\|_\infty (S(f)) + 2S(f) S(g))$$

Corollary 4 — If  $f$  and  $g$  have a zero on  $[a, b]$ , then

$$S(fg) \leq 8S(f)S(g),$$

PROOF : Taking into account that

$$\|f\|_\infty \leq 2S(f) \text{ and } \|g\|_\infty \leq 2S(g),$$

it follows

$$S(fg) \leq \frac{3}{2} (2S(f) S(g) + 2S(g)S(f)) + 2S(f)S(g) = 8S(f)S(g)$$

**Theorem 5** —  $S_j(fg) \leq k_j S_j(f)S_j(g)$ , for all  $f$  and  $g \in F_j$  with  $k_j = 6k_{j-1}$ .

PROOF : Let  $p_n$  and  $q_n$  the best uniform approximates of  $f$  and  $g$  on  $\pi_n$ , respectively.

Then

$$\begin{aligned} S_{j-1, 2n}(fg) &\leq S_{j-1}(fg - p_n q_n) = S_{j-1}(fg - f q_n + f q_n - p_n q_n) \\ &\leq S_{j-1}(f(g - q_n)) + S_{j-1}((f - p_n)q_n) \\ &\leq K_{j-1} S_{j-1}(f) S_{j-1}(g - q_n) + K_{j-1} S_{j-1}(f - p_n) S_{j-1}(q_n). \quad \dots (4.3) \end{aligned}$$

Note that  $S_{j-1}(f) = S_{j-1}(f - p_0(f))$  is the first term of the series  $S_j(f)$ , hence

$$S_{j-1}(f) \leq S_j(f).$$

Also, by corollary 2

$$S_{j-1}(q_n) \leq 2S_{j-1}(g).$$

Hence

$$S_{j-1, 2n}(fg) \leq K_{j-1} S_j(f)S_{j-1}(g - g_n) + 2K_{j-1} S_{j-1}(g) S_{j-1}(f - p_n).$$

Thus

$$\begin{aligned} \sum_{n=0}^{\infty} S_{j-i, 2n}(fg) &\leq K_{j-1} S_{j-1}(f) \sum_{n=0}^{\infty} S_{j-1}(g - g_n) + 2K_{j-1} S_{j-1}(g) \sum_{n=0}^{\infty} S_{j-1}(f - p_n) \\ &= K_{j-1} S_{j-1}(f) S_j(g) + 2K_{j-1} S_{j-1}(g) S_j(f) \end{aligned}$$

$$\leq K_{j-1} S_j(f) S_j(g) + 2K_{j-1} S_j(g) S_j(f) = 3S_j(f) S_j(g).$$

On the other hand

$$\sum_{n=1}^{\infty} S_{j-1, 2n-1}(fg) \leq \sum_{n=1}^{\infty} S_{j-1, 2n}(fg).$$

$$\sum_{n=0}^{\infty} S_{j-1, n}(fg) = \sum_{n=1}^{\infty} S_{j-1, 2n-1}(fg) + \sum_{n=1}^{\infty} S_{j-1, 2n}(fg)$$

$$\leq 6K_{j-1} S_j(f)S_j(g) = K_j S_j(f)S_j(g), \text{ with } K_j = 6K_{j-1}$$

*Remark 1* : If in (4.3) we use the boundedness

$$S_{j-1}(q_n) \leq S_{j-1}(q_n - g) = S_{j-1}(g),$$

we get

$$\begin{aligned} S_{j, 2n}(fg) &\leq K_{j-1} S_{j-1}(f)S_{j-1}(g - g_n) + K_{j-1} S_{j-1}(f - p_n) S_{j-1}(q_n) \\ &\leq K_{j-1} S_{j-1}(f) S_{j-1}(g - g_n) + K_{j-1} S_{j-1}(f - p_n) [S_{j-1}(q_n - g) + S_{j-1}(g)]. \end{aligned}$$

Hence,

$$\begin{aligned} \sum_{n=0}^{\infty} S_{j-1, 2n}(fg) &\leq K_{j-1} S_{j-1}(f)S_j(g) + K_{j-1} S_j(f)S_{j-1}(g) \\ &\quad + K_{j-1} \sum_{n=0}^{\infty} S_{j-1, 2n}(f - p_n) S_{j-1, 2n}(g - q_n) \\ &\leq 2 K_{j-1} S_j(f)S_j(g) + K_{j-1} S_j(f) S_j(g) = 3K_{j-1} S_j(f)S_j(g). \end{aligned}$$

Then

$$\sum_{n=0}^{\infty} S_{j-1, 2n}(fg) \leq 6K_{j-1} S_j(f) S_j(g),$$

And the same boundedness is obtained.

*Remark 2* : The assertion of theorem 5 holds whenever  $f$  and  $g$  have zeros on  $[a, b]$  and  $S_j(f) < \infty, S_j(g) < \infty$ .

*Remark 2* : The assertion of theorem 5 holds whenever  $f$  and  $g$  have zeros on  $[a, b]$  and  $S_f(f) < \infty, S_f(g) < \infty$ .

**Theorem 6** — *There are constants  $\alpha_k > 0$  such that*

$$N_k(fg) \leq \alpha_k N_k(f) N_k(g) \quad \forall f, g \in F_k \quad \dots (4.4)$$

PROOF : The norm  $N_k$  is equivalent to  $S_k$ . That is, there exist constants  $m_k > 0, M_k > 0$  such that

$$m_k S_k(f) \leq N_k(f) \leq M_k S_k(f), \quad \forall f, \in F_k.$$

Then

$$m_k S_k(fg) \leq N_k(fg) \leq N_k S_k(fg),$$

and

$$S_k(f) \leq \frac{1}{m_k} N_k(f), \quad \forall f, \in F_k.$$

Consequently:

$$N_k(fg) \leq M_k S_k(fg) \leq M_k K_k S_k(f) S_k(g) \leq \frac{M_k K_k}{m_k} N_k(f) N_k(g) = \alpha_k N_k(f) N_k(g),$$

where

$$\alpha_k = \frac{M_k K_k}{m_k}.$$



### 5. THE SEQUENCE $\{\gamma_k\}$

The sequence  $\{\gamma_k\}_{k=0}^{\infty}$  given by

$$\gamma_k = \inf \{ \alpha_k : N_k(fg) \leq \alpha_k N_k(f) N_k(g), \quad \forall f, g \in C[a, b],$$

$f$  and  $g$  with zeros in  $[a, b]$  and  $N_k(f) < \infty, N_k(g) < \infty$ .

is a unique sequence, completely determined, and stands for a sequence of numbers associated to the polynomial approximation. Clearly

$$\gamma_k = \text{Sup} \left( \frac{N_k(fg)}{N_k(f) N_k(g)} : f \text{ and } g \in C[a, b], \text{ with zeros in } [a, b], \right.$$

$$N_k(f) < \infty \text{ and } N_k(g) < \infty \}.$$

It follows from corollary 4:

Corollary 5 —  $\gamma_0 \leq 8$ .

PROOF :  $N_0(fg) = S(fg) \leq 8S(f)S(g) = 8N_0(f)N_0(g)$  ■

Note 1 : What is the exact value of  $\gamma_0$ ? This is an open question.

### 6. THE BANACH ALGEBRA $(C_k, N_k)$

The vectorial spaces constituted by the set of functions

$$C_k = \{f \in C[a, b] : f(x_0) = 0, N_k(f) < \infty\}$$

with

$$N_k(f) = E_0(f) + \sum_{n=1}^{\infty} n^k E_n(f), \quad k = 1, 2, \dots$$

are, as can easily be seen, Banach spaces.

Furthermore, theorem 6 allows to assert that these spaces with the punctual product  $f \circ g = \frac{fg}{\alpha_k}$  constitute Banach algebras. In the particular case,  $k = 0$ , the Banach Algebra  $(C_0, S)$  in connection with minimax series is studied in [8].

Note that if we define  $M_r(f) = \sum_{k=0}^{\infty} (k+1)^r E^k(f), k > r + 1, N_0 = S, r > 0$

arbitrary (not only integer), taking into account the following equivalence proved in [4], one has:

$$M_r(F) = \sum_{k=0}^{\infty} (k+1)^r E_k(F) + \int_0^{1/m} \frac{w_{\varphi}^k(F, t)}{t^{r+2}} dt = \|F\|_{r+1}, \quad \dots (6.1)$$

where  $w_{\varphi}^k(fg, t) \leq 2^k \|f\|_{\infty} w_{\varphi}^k(g) + 2^k \|g\|_{\infty} w_{\varphi}^k(f),$

and substituting in (6.1) we have

$$M_r(fg) \sim \|fg\|_{r+1} \leq 2^{k+1} \|f\|_{r+1} \|g\|_{r+1} \sim M_r(f) M_r(g).$$

Note also that the norms  $N_r$  and  $M_r$  are equivalents. In this sense, this result is a simple proof of theorem 6 which is valid also for  $r > 0$  arbitrary, not only integer.

## REFERENCES

1. P. L. Butzer and K. Scherer, *Hochschulschriften* **826/826a**, Biblg. Institute, 1968.
2. R. DeVore and V. Popov, *Proc. Conf. Lund*, 1986, *LNM* Springer-Verlag (1988), 191-205.
3. Z. Ditzian and V. Totik, *Moduli of Smoothness*, Springer-Verlag, 1987.
4. Z. Ditzian and V. Totik, *Proc. Am. math. Soc.*, **104** (1988) 1059-1066.
5. N. Hayek and F. Pérez Acosta, *Rev. Acad. Canaria de Ciencias.*, **VI** (num.1) (1994), 119-127.
6. F. Pérez Acosta and P. González-Vera, Approximation and convergence in the norm induced by the minimax series. *Rend. Sem. Matematico Univ. Politecnico di Torino (Accepted)*.
7. F. Pérez Acosta, *J. computa. appl. Math.* **81** (1997) 101-106.
8. F. Pérez Acosta, *J. computa. appl. Math.* **83** (1997) 55-69.